

Florida Department of Transportation



Vendor Ranking

Call Order: 006

Page 1 of 1

Letting: 04241101

November 01, 2024 10:30

Contract:

E4X84-R0

District: District 4 Counties: BROWARD

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

AM

Project(s): 45128817201 (*)

Contract Desc: BROWARD COUNTY INSTALL HANDRAILS - ROUTINE MAINTENANCE

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	HIGHSTYLE ENGINEERING & CONSTRUCTION SERVICES LLC	Responsive	Winning bid	\$119,810.00	100.00%
2	SUPREME ROOFING & CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$124,150.00	103.62%
3	APEX WELDING SERVICES CORP	Responsive	Non-Winning Bid	\$134,250.00	112.05%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$151,800.00	126.70%
5	C. SLAGTER CONSTRUCTION, INC.	Non Responsive	Non-Winning Bid	\$182,780.00	152.56%
6	UPRIGHT ELECTRICAL SERVICES LLC	Responsive	Non-Winning Bid	\$196,500.00	164.01%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: **BEGIN DATE:** 11/26/24

BEGIN TIME:

10:30 AM

END DATE:

12/04/24

END TIME:

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 100,000.00 and not the contractor's bid total.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 4

Letting: 04241101 November 01, 2024 **Call Order:** 006 **Contract:** E4X84-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 45128817201 (*)

Contract Descr: BROWARD COUNTY INSTALL HANDRAILS - ROUTINE MAINTENANCE

The work within this contract consists of installing, removing, and/or replacing steel, aluminum, and/or Pedestrian Channel Barrier handrails on the State Highway System.

The summary of pay items for this project is listed in the Bid Price Proposal.

ADVERTISED ESTIMATE The award amount and contract performance bond shall be based on the Department's advertised

estimate amount of \$100,000.00 and not the contractor s bid total.

PERFORMANCE BOND A Contract / Performance bond is required for this project.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to SmallBusiness@dot.state.fl.us

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Line No / Item ID Alternat Item Description	e Quantity Units	(1) HIGHSTYLE & CONSTRUCT		(2) SUPREME CONSTRUC		• •	DING SERVICES
() indicates item is bid as Lump Sum		Unit Price LL	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(GUARDRAIL	REPAIR (LF					
0005 0515 1 2 PIPE HANDRAIL - GUIDERAIL, ALUMINUM	700.000 LF	98.00000	68,600.00	100.00000	70,000.00	105.00000	73,500.00



Page 2 of 4

Florida Department of Transportation



Tabulation of Bids

Letting	: 04	4241101	November 01,	2024 Ca	II Order: 006		Contract:	E4X84-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) HIGHSTYLE & CONSTRUCT	ION SERVICES	(2) SUPREME CONSTRUC			DING SERVICES
() indi	cates item is bi	d as Lump Sum		Unit Price LL	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(GUARDRAIL F	REPAIR (LF					
PIPE HAI	0515 1100 NDRAIL, INS NANCE USE		100.000 LF	91.00000	9,100.00	60.00000	6,000.00	50.00000	5,000.00
		CLE RAILING,	130.000 NS, LF	125.00000	16,250.00	165.00000	21,450.00	275.00000	35,750.00
FENCING	0914550 1 G-PEDESTR OOP FENCE	IAN BARRIER	40.000 P1- 4' LF	600.00000	24,000.00	600.00000	24,000.00	400.00000	16,000.00
	E460 82 GHTENING		20.000 EA	93.00000	1,860.00	135.00000	2,700.00	200.00000	4,000.00
0001 GI	UARDRAIL F	REPAIR (LF) S	Section Totals:	l	\$119,810.00		\$124,150.00		\$134,250.00
		Contract G	rand Totals:		\$119,810.00		\$124,150.00		134,250.00



Page 3 of 4

Florida Department of Transportation



Tabulation of Bids

				.
Lettina:	04241101	November 01, 2024	Call Order: 006	Contract: E4X84-R0

Letting:	04241101	November 01,	2024 Ca	II Order: 006		Contract:	E4X84-R0	
Line No / Iten		ate Quantity Units	(4) T & M LA SERVIO		(5) C. SL CONSTRUC			ELECTRICAL ES LLC
•	n is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	ON: 0001	(GUARDRAIL F	REPAIR (LF					
0005 0515 1 PIPE HANDRAIL ALUMINUM		700.000 LF	150.00000	105,000.00	142.00000	99,400.00	200.00000	140,000.00
0010 0515 1 PIPE HANDRAIL MAINTENANCE	, INSTALL ONLY-	100.000 LF	70.00000	7,000.00	75.00000	7,500.00	25.00000	2,500.00
0015 0515 2 PEDESTRIAN / E 42" TYPE 1	111 SICYCLE RAILING	130.000 , NS, LF	180.00000	23,400.00	320.00000	41,600.00	200.00000	26,000.00
0020 0914550 FENCING- PEDE STEEL LOOP FE	STRIAN BARRIEF	40.000 R P1- 4' LF	400.00000	16,000.00	832.00000	33,280.00	650.00000	26,000.00
0025 E460 82 BOLT TIGHTENII	-	20.000 EA	20.00000	400.00	50.00000	1,000.00	100.00000	2,000.00
0001 GUARDR	AIL REPAIR (LF)	Section Totals:	1	\$151,800.00		\$182,780.00		\$196,500.00
	Contract (Grand Totals:		\$151,800.00		\$182,780.00		196,500.00



Florida Department of Transportation

11/07/2024

Tabulation of Bids

Page 4 of 4

Letting: 04241101 November 01, 2024 **Call Order:** 006 **Contract:** E4X84-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.